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QUESTION 1

In a Bridged 1483 network, which CLI commands are used to baseline an IP interface on ATM 6/1.1 and display recent
IP transmit and receive statistics? 

A. clear ip interface atm 6/1.1 show ip interface atm 6/1.1 

B. baseline atm interface atm 6/1.1 show ip interface atm 6/1.1 

C. clear ip interface atm 6/1.1 show ip interface atm 6/1.1 delta 

D. baseline atm interface atm 6/1.1 show ip interface atm 6/1.1 delta 

Correct Answer: D 

 

QUESTION 2

You are running OSPF between two ERX Edge Routers across an OC-12c link with HDLC encapsulation. How many
designated routers are present for this link? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: A 

 

QUESTION 3

What describes the functionality of NTP when using multiple virtual routers? 

A. All virtual routers can act as NTP clients and servers. 

B. Only one virtual router can act as an NTP client and a server. 

C. Only one virtual router can act as an NTP server but all can be clients. 

D. Only one virtual router can act as an NTP client but all can be servers. 

Correct Answer: D 

 

QUESTION 4

An ATM PVC is configured as atm pvc 1 0 101 aal5snap 256 128 100. Which three statements describe the traffic
management characteristics of this interface? (Choose three.) 
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A. The burst size is 128 cells. 

B. The burst size is 100 cells. 

C. This is a real-time variable service. 

D. The peak rate is 256K bits per second. 

E. This is a non-real-time variable service. 

Correct Answer: BDE 

 

QUESTION 5

A Bridged 1483 network is grouping all DSL users into a single logical subnet. Which configuration command prevents
the end users from directly communicating with each other? 

A. no ip arp 

B. no ip proxy-arp 

C. restrict ip arp 

D. restrict ip proxy-arp 

Correct Answer: B 
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